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901 07 2 37
901 07 FESR 39.8
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901 07 BRIE(E 25.5
901 07 g, 51.3
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901 13 Hh 38 46.3
901 13 NERETE 46.0
901 13 EESE 38.0
901 13 R 56.5
901 15 BRI 53
901 16 BY 3 3.8
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901 16 ENE] 7.5
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901 16 NERETE 0
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901 16 FomE i 0.3
901 16 e X 50
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901 16 B

901 16 £rEREE 0
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901 16 YEE 30

901 34 T 55.3
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901 40 EESEES 47.8
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902 02 iR 39.0
902 02 2 42.8
902 02 FESR 51.3
902 02 Hh 38 36.0
902 02 NERBEHE 47.0
902 02 EESE 42.5
902 02 R 50.0
902 12 B > 51.6
902 12 &S 48.3
902 12 Hh 38 51.5
902 33 e 53.8
902 33 2 59.5
902 33 RS 47.3
902 33 Hh 38 52.3
902 34 ENE] 45.3
902 34 Hh 38 40.3
902 34 B 1E 34.1
902 34 A 52

902 39 e 46.8
902 39 S 50.8
902 39 1h 38 54.3
902 39 EESEE 52.1
902 39 R} 54.0
902 40 &S 51.8
902 40 Hh 38 57

902 40 EESEE 56.8
902 43 R 53.8
902 45 N 50.8
903 02 B 3 49.8
903 02 T 48.8
903 02 2 28.3
903 02 FESE 41.3




903 02 Hh3E 38.5
903 02 EES=XT 25

903 02 JEE S 52.3
903 03 B > 38.1
903 03 e 42.8
903 03 RS 52

903 03 EESEES 27.3
903 03 g, 57.8
903 04 BY 3 54.9
903 04 SRR 49.0
903 04 e 57

903 04 RS 43

903 04 Hh 38 52.0
903 04 EESE 42.1
903 06 e 24.8
903 06 e 49

903 06 e 34

903 06 S 40.3
903 06 Hh 3§ 38.5
903 06 NEETE 41.0
903 06 EES = 19.8
903 06 A} 39.8
903 07 B 1E 41.4
903 08 B 3L 42.4
903 08 R 48

903 08 2 37.3
903 08 BRIE(E 35.1
903 08 RE 5 27.5
903 11 EES=ES 46.1
903 14 BY 3 47.5
903 14 B 55.3
903 14 e 43.5
903 14 BR3EB1E 21.4
903 15 SREE 47.3
903 15 ENE] 44.5
903 15 fESR 54.0
903 15 1h 38 35.5
903 15 EESEE 26.6
903 15 R 56

903 16 e 23.8




903 16 T 42.3
903 16 2 35.5
903 16 fESR 39.0
903 16 1h 38 6.8

903 16 NEBHE 43.5
903 16 B7R381E 26.5
903 16 R 51

903 32 B~ 39.6
903 32 iR 52.8
903 32 2 49.5
903 32 FESR 42.3
903 32 Hh 38 48.0
903 32 EESEE 35.9
903 32 A} 57

903 37 e 59.3
903 37 e 47.3
903 37 e 33.3
903 37 S 43.8
903 37 EESEES 30.3
903 37 g, 47.3
903 38 BY 3 51.6
903 38 AR 51.5
903 38 e 46.5
903 38 S 45.8
903 38 1h 38 58.8
903 38 NEHETE 54.2
903 38 BRIE(E 30.8
903 40 BT 35.8
903 40 B 49

903 40 e 36.5
903 40 FESE 42.5
903 40 Hh3E 24.8
903 40 NERETE 54.3
903 40 EESEE 21.5
903 40 R 43.3
903 42 BX 3 56.8
903 42 SRR 48.8
903 42 2R 44.5
903 42 EES=ES 33

903 44 BY 3 50.5
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903 44 2 43.8
903 44 FESE 49.5
903 44 1h 38 51.5
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904 01 SRR 52.8
904 05 BY 3 53.3
904 05 SRR 24.5
904 05 2 47

904 05 Hh 38 47.8
904 05 NERBEHE 49.2
904 05 EESE 49.4
904 06 AR 38.8
904 09 B > 46.6
904 09 e 39.8
904 09 2 30

904 09 fne KL 52

904 15 2 57.8
904 31 ENE] 52.5
904 31 B 55.6
904 32 BY 3 38.1
904 32 SREE 23.3
904 32 ENE] 40

904 32 RS 54.8
904 32 Hh3E 42.5
904 32 NEETE 48.7
904 32 EES=ES 20.8
904 32 R} 48.8
904 36 b 35.0
904 36 e 48.5
904 39 B 31.3
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904 41 ENE] 55
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905 02 FESE 24

905 02 Hh3E 7.5




905 02 N 27.8
905 02 EES=XT 5
905 02 JEE S 45
905 02 EES 41.3
905 02 RE 5] 7.5
905 02 B 2l 0
905 02 fna K I 51.3
905 02 £rEREE 0
905 02 EFINL L

905 02 EIKEE(E) 10
905 05 Eipve 47.4
905 05 2 31
905 05 EESEES 41.3
905 05 A} 50.3
905 06 BY 3 13.4
905 06 e 35.5
905 06 ENE] 14.8
905 06 S 24.8
905 06 Hh 3§ 14.5
905 06 NEETE 31.2
905 06 B8 1E 19.4
905 06 A} 41.3
905 06 EES 58.8
905 06 R B 5l 7.5
905 06 BB 5
905 06 e X 59.5
905 06 REHS 52.0
905 06 EIEREE 15
905 06 EZIEE 32
905 06 T IkE B () 19
905 07 2 56.8
905 07 Hh3E 49.5
905 13 B 48.5
905 13 e 21.5
905 13 FESE 53
905 13 Hh3E 40.5
905 13 BR81E 36.3
905 13 JEE S 55.5
905 14 2 38.5
905 14 FESE 55.3




905 14 Hh3E 47.5
905 14 EES=XT 52.5
905 14 Ay 54.3
905 16 B > 44.9
905 16 T 46.5
905 16 2 32

905 16 FESR 52.5
905 16 Hh 38 41.3
905 16 rERBEHE 53.8
905 16 EES=XS 47.5
905 16 SRS 49.5
905 32 2 40.5
905 32 EESEES 52.6
905 34 B > 55.9
905 34 B 51.5
905 34 ] 39.8
905 34 &S 51

905 34 Hh 38 39

905 34 BRIE(E 47.5
905 34 g, 58.5
905 35 ENE] 51.3
905 37 2 56.5
905 38 EES 0
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905 38 e X 50

905 42 ENE] 43.3
905 42 B 50.0
905 44 2 59

905 45 BY 3 53.9
905 45 B 49.8
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905 45 Hh3E 31

905 45 NERETE 46.6
905 45 EESEE 20.3
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906 08 B > 32.1
906 08 SaRE 22.3
906 08 ENE] 22.8
906 08 fESR 40.0
906 08 Hh3E 37.5
906 08 EESEES 47.5
906 08 g, 48.8
906 11 R 18.0
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906 11 BAEE 56.1
906 11 g, 54.8
906 12 BY 3 35.8
906 12 SRR 24.5
906 12 e 39

906 14 e 16

906 14 ENE] 54.8
906 15 REE 27.8
906 15 ENE] 41

906 16 B > 55.5
906 16 SREh 53.8
906 16 2 51.8
906 32 e 50.3
906 32 EESE 57.9
906 35 e 39.0
906 35 2 25.8
906 36 B 28.8
906 36 HaEE 19.0
906 36 e 23.3
906 36 ES 41.3
906 36 1h 38 44.5
906 36 BB 45.6
906 36 R} 49

906 37 e 46.5
906 40 BY 3 46.9
906 40 SRR 49.5
906 40 2 33.3
906 40 FESE 44.3
906 40 1h3E 54.0
906 40 EESEE 55.9




906 43 e 59.3
907 06 B > 52.3
907 06 fESR 48

907 06 1h 38 52.3
907 10 BY 3 40.9
907 10 B 36.8
907 10 HE 45.8
907 10 RS2 43.3
907 10 Hh 38 42.5
907 10 EES=XS 52.3
907 10 SRS 57.8
907 13 2 35

907 13 Hh 38 40.5
907 13 NEETE 10.8
907 13 ZIuREE 0

907 13 EIKERR(E) 0

907 13 EIKER(E) 0

907 14 B > 36.5
907 14 B 26.8
907 14 2 35.8
907 14 RS 42.3
907 14 Hh 38 34.3
907 14 NERETE 34.3
907 14 EESE 51.8
907 32 BY 3 43.9
907 32 AR 23.8
907 32 ENE] 46

907 32 S 45.0
907 32 1h 38 35.3
907 32 EESEE 53.8
907 32 R} 58.3
907 35 B 3 56.1
907 35 B 58.0
907 35 e 52.8
907 36 B 30

907 36 SRR 0
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907 36 1h3E 15
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907 42 NERBETE 53.8
907 43 B3 47.6
907 43 R 56.3
907 43 2 49.3
907 43 FESE 47.5
907 43 Hh 38 48.3
907 43 NERETE 52.2
907 44 S 53.5
907 44 Hh 3§ 51.3
907 44 NEETE 59.9
908 03 B 3L 55.3
908 03 AR 54.0
908 03 e 53.5
908 03 EESE 46.8
908 03 R} 57.0
908 04 AR 49.8
908 06 e 49.5
908 09 HaEE 54.5
908 12 BY 3 41.0
908 12 SRR 52.3
908 12 2 40.3
908 12 &S 46.8
908 12 Hh 38 35.8
908 12 N 53
908 12 EES=ES 38.3
908 12 R 42
908 13 B 3 45.1
908 13 T 46.8
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908 13 FESE 44.5
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908 13 NERETE 46.8
908 13 EESEE 48.2
908 13 Rl 22
908 14 BY 3 59.5
908 14 B 50.0
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908 14 RS2 46.3
908 14 Hh 38 44.8
908 14 NERETE 29
908 14 BAEE 55.2
908 14 g, 55
908 14 EEL 0
908 14 e K 53.3
908 14 Iro =B 57.5
908 15 B > 35.5
908 15 R 41.0
908 15 2 37.8
908 15 FESR 45.8
908 15 Hh 38 31.0
908 15 NERETE 48.9
908 15 B 40.7
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908 16 B 3L 55.4
908 16 R 54.8
908 16 2 47.8
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908 31 BT 0
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908 31 Hh3E 1.3
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908 31 EES 2.5
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908 38 NERETE 45.7
908 38 EESE 45.8
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909 03 e 58.8
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909 09 B 45.3
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909 09 FESE 51.3
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909 09 BR81E 58.6
909 09 JEE S 57.5
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909 14 B 1E 52.5
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909 16 ENE] 44.6
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909 16 NEETE 55.8
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909 18 NERETE 55
909 18 EESEE 40.6
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909 38 e 54.5
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910 08 2 48.5
910 08 EESEE 38.3
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910 14 2 37.8
910 14 FESE 42.8
910 14 Hh 38 35.8
910 14 B8 1E 43.6
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910 15 BY 3 23.5
910 15 SREE 14
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910 15 RS 32.5
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910 15 NEETE 45.8
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910 38 BRIE(E 54.5
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911 01 Hh 38 35.8
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911 03 HEE 48.8
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911 03 FESE 51

911 03 Hh3E 28.8
911 03 EES=ES 43.8
911 06 B 3 56.8
911 06 B 46.3
911 06 e 50.8
911 06 FESE 44.3
911 06 Hh3E 48.5
911 06 NERETE 58.3
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911 07 R 24.8
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911 07 1h 38 28.3
911 07 NERBTE 40.8
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911 13 Eipve 56
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911 31 NG 44.8
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911 37 SRR 33.5
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911 37 FESE 49.8
911 37 NERETE 56.8
911 37 BAEE 33.9
911 37 g, 51.5
911 41 BY 3 57.3
911 41 S 49.5
911 41 Hh 3§ 58.8
911 41 NEETE 57.8
911 41 BRIE(E 55.5
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911 43 BY 3 32.9
911 43 SRR 26.8
911 43 ENE] 43.3
911 43 RS 48.3
911 43 1h 38 35.3
911 43 NEHETE 49.5
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911 46 BR3EB1E 0
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911 46 EES 0
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912 04 iR 51.8
912 04 2 47.3
912 04 FESE 56.3
912 04 Hh 38 55.3
912 04 NERBEHE 56.8
912 04 EESE 33.5
912 06 ENE] 40.3
912 06 BRI 28.9
912 09 BRIE(E 50.3
912 10 2 26.3
912 10 FESR 50.0
912 10 Hh 38 50.5
912 10 B8 1E 32
912 10 A} 42.5
912 11 S 57.3
912 11 Hh 38 44.0
912 11 B 1E 47.3
912 11 A 59.5
912 14 ENE] 44.3
912 14 B 36.6
912 34 EES=ES 37.8
912 37 e 40.3
912 37 EES=ES 32.3
912 39 e 51.8
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913 02 EESE s 55.0
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913 06 NERBEHE 37.5
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913 06 R 5l 40.5
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913 07 S 50.3
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